
non-operating revenue
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8 1/2 months completed. Will annualize based on this for expenses. However, September revenues haven't been recorded yet so we will annualize based on 8 months.
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Annualized op revenue = $1,645,864/8X12=$2,468,796. Subtract 4% to account for annualization occurring in colder months (2,468,796 - 98,752 = $2,370,044) Add 18% to this for the last three months of 2021 (2,370,044-1,645,864)/4*3 *18% = $97,764
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operating expense (less depreciation recorded so far) = $1,454,878/8.5*12=$2,053,945
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Employee cost projection (excluding retirement)
2021 annualized     $475,320/8.5x12=671,040    
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Retirement projection:
2021 annualized    106,948/8.5x12 = 150,985






